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/] ABDBEDHIRE
import java.io.*;
class Sample7_1
{
public static void main(String[] args) throws IOException
{
/] F—M—FADD%ER
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
/]l F—M—FAD
System.out.println("EHZEZANLTIZE0, ");
int i;
i=Integer.parseInt(br.readlLine());
switch(i) // ZH i [CKDWBZEDIR
{
case 1: // i1 DEE,
System.out.println("1 DADSNE UL, ");
break;
case 2: // iN2DEE,
System.out.println("2 ADSINZFELE. ");
break;
default: // i "1 TE2 TERNESE,
System.out.println("1 D' 2 ZAD LTI ZEL), ");
break;
}
}
\ J
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V—23— Rl
V=D 741 )LE . Sample7_2.java

r
/1 ADXFDHITE
class Sample7_2

{

public static void main(String[] args)

{

char c='b’;

switch(c) // B c [CKDNEBEDI
{
case 'a': // ch'a'DEE,
System.out.println("a CTd™");
break;
case 'b': // cHV'b'DEE,
System.out.println("b T3™");
break;
default: // cH'a' TE'b' TERNESE,
System.out.println("a CEb TEHDFIEA");

break;
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V—23— Rl
V=T P41)UE : Sample7_3.java

A
/] wIEBESEFDEEER

class Sample7_3

{
public static void main(String[] args)
{
System.out.println("!true = "+ (!true));
System.out.println("!false = " + (!lfalse));
System.out.println("true & true = "+ (true && true));
System.out.println("true & false = "+ (true && false));
System.out.println("false & true = "+ (false && true));
System.out.println("false && false = "+ (false && false));
System.out.println("true || true = "+ (true || true));
System.out.println("true || false = "+ (true || false));
System.out.println("false || true = "+ (false || true));
System.out.println("false || false = "+ (false || false));
}
\}
=TE|

Itrue = false

Ifalse = true

true && true = true
true && false = false
false && true = false
false && false = false

true || true = true
true || false = true
false || true = true
false || false = false
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V—23— Rl
V=T P41)UE : Sample7_4.java

(// AXF « INXFOUIE h
import java.io.*;
class Sample7 4
{
public static void main(String[] args) throws IOException
{
// F—IR— FABDD%EESRH
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
System.out.println("@/RXTIEBETI D ¥nY DN ZAD LT ZS0N )5
/]l F—M—FEDH5 1NXFEAD
char ¢ = br.readlLine().charAt(0);
if(c == "Y' || c=="y") // YEEEyDEE,
System.out.println("®HREIEEMETINR, ");
else
{
if(c == 'N' || ¢ == 'n") // NE2lEn EE,
System.out.println("®HRXCELZMHETIR, ");
else
System.out.println("Y DN ZADULTIZEL), ");
}
} @
} 1XFADEMDF—IR—FAD
\. /] F—R—FDEXFHEATN
String str = br.readLine();
/] F—M—ENOSEBHZEAND
int i = Integer.parseInt(br.readLine());
/] F—M—EDSEHEAD
double d = Double.parseDouble(br.readLine());
/] F—MN—END5—NXFZAND
char ¢ = br.readLine().charAt(0);
ETEHE
HIRCIIBETIND?
YNZAD LT IZSHN,
y
HIRCIEIBHETI,
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f?‘ if TORERORBEST || & switch XTHONDOISEBELTHELLS

V=TI 7A)LE  Ext7_1.java

(// ANXF « INXFOUIE 2

import java.io.*;

class Ext7_1
{
public static void main(String[] args) throws IOException
{
/] F—h—RADDER
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));

System.out.println("@®/RXTIEBETI D ¥nY DN ZAD LT ESL),

/] F—IN—FEN5 1XFEAD
char ¢ = br.readLine().charAt(0);

switch(c)
{
case 'Y':
case 'y': // YEEEyDEE.
System.out.println("®HRXTEBHETIR, ");
break;
case 'N':
case 'n': // NZFEEldn &,
System.out.println("®RXCIELZMHETIR, ");
break;
default:
System.out.println("Y DN ZAD LTI ZEL), ");

")
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B 2 R : R 2]

J—RfEl | a==2 ? 10 : 20;
J—RfEl | a»=0 ? 1 : 1.5;

YV —23— Rl
V=D 741 )LE : Sample7_5.java
r A
/1 1BE - TEDHIE
class Sample7_5
{
public static void main(String[] args)
{
int i = 3;
/] 1BE - TEDHIE
String str;
str = ((i%2==0) ? "{BE" : "FTE");
System.out.println("S5Z5NIEEEHI +str+" T, ");
}
& J
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